C. The C,, Groups

Gy | E G o,(x2) o,(yz) |

Ay |11 1 1 z x4yt z 23 2(x% — y?)

Aj 1 1 -1 -1 R xy xyz

B |1 -1 1 -1 xRy | xz xz2, x(x? = 3y?)

Bl1 -1 -1 1| 2R | yz 2%, y(3x* = y?)

Cy, | E 2C; 30, |

A 1 1 1|z x2 4+ 2,22 23, x(x2 - 3y?)

A, | 1 1 -1 | R, y(3x% — ¥?)

E |2 -1 0] (xy),RuR) | (2= yixy), (xz,2) | (x2%,92%), [xyz,2(x* — y?)]
Cy | E 2C4 C 20, 204 |

A4, |1 1 1 1 1]z x2+y2 2 | 2

A1 1 1 -1 -1]|R

B |1 - I 1 - x? - y? z(x? — y?)

B, 1 - 1 -1 xy xyz

E |2 -2 0 (x,7), (Re, Ry) | (x2,y2) (xz?, yz%), [x(x* = 3p?), y(3x* — y?)]
Cw | E 2G5 2C? 5o,

A 1 1 1|z x2 4+ p2,22 z3

4 |1 1 -1 |R

E; | 2 2c0872° 2cosldd® 0 | (x,¥),(ReRy) | (xz,¥2) (2%, yz%)

E, | 2 2cosld4® 2cos72° 0 (x2=y2 xp) | [xyzz(x? = y?)), [x(x? = 3p?), y(3x% — y?)]
Ce | E 2Cs 2C; G 30, 304

A1 11 1 1 11}z x2 4 p2, 22 z3

Az 1 1 1 1 -1 -1 | R,

B |1 -1 1 -1 1 -1 x(x2 —3p?)

B 1 -1 1 -1 -1 1 y(3x% — 32

E |2 1 -1 =2 0 0| (xy),(R,R))| (xz,y2) (xz2, yz?)

E |2 -1 -1 2 0 0 (x2 = y2,xy) | [eyz,z(x? = y?)]






